A STORY OF UNITS Lesson 19 Homework m

Name Date

1. When you divide 86 by 4, there is a remainder of 2. Model this problem with place value disks. In the
place value disk model, how can you see that there is a remainder?

2. Francine says that 86 + 4 is 20 with a remainder of 6. She reasons this is correct because
(4 x 20) + 6 = 86. What mistake has Francine made? Explain how she can correct her work.
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5. Imagine you are drawing a comic strip showing how to solve the problem 72 + 4 to new fourth graders.
Create a script to explain how you can keep dividing after getting a remainder of 3 tens in the first step.
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